S0 6 F£E
INWHEMmVILR— At %X —
S HEX

H H i H Yo T
108 | 7« % 3 FAeIlR=E
7 23H | X FLIBEEE
83| X % 2 B aedlli=
> 218 | X 2 IeeilliR=
5H | K % 2 B Redlli=
o7 188 | X 2 IaedlliR=
108 | % 2 F Rl =E
s 238 | X 2 IeedlliR=
8 | K % 2 FRedll=E
57 208 | X 2 IaedlliR=
118 | X 52 FeeAlEE
o 248 | X % 2 Faedlli=E
(K R 9:30~11:30

CSR=EY)) ELHE
F2& 3, 000M
(EEICRY AE)



S0 6 F£E
INWHEMmVILR— At %X —
S HEX

A 5 | A B
of | K | mommlEE
107 -
228 | & | EopEEAgE
68 | K | mommlEs
115 :
198 | & | B2pseEE
118 | & | Eoxilgs
12 :
248 | x| B2pEAlgE
5 8E | K | mommlgs
218 | X | B2pedlgE
- 58 | Kk | mommelgs
188 | & | HB2puedEE
. 58 | & | E2pdlgs
188 | X | HopueEE

(K R 9:30~11:30

(355 %] £LAE
F2% 3, 000/
(FDEEICRY BE)




